EARAROBREBRT —5 XN—ZXBISH—F

202129868 (B) 6mIEEm2H

o8 C 2 4 Y5 R—R (s | mEmE - |7 00 0 e
[AXE%&] 1%&:29,00H ~ 2%&:102,000H”  337%:58,00MH  4%&:29,000H ~ 53&:15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
» ~ )= 4 3 | LUAEER 1:16.0 3-1 38.2| - 3 460 | FEEELfE— (ERR)
1171 7| ARXAXYT 54.0 (=) (14) | FHBR
RiROSAYT B RXATAAI T Bs
< _ -~ P PaBRSRfA 7. - . - {E2ARBER] (KR)
2l gl vvr=—<vwo 3| E8 1 (187) 3 23 [39.7 2 (4_1?3) i 7
RiIXYUSTvR 8:/—RS5X—=)L NaSEERES
S == ) 4 3 | AHE 1:17.4 4-4 39.4] - 1 48 | HERAD (EERE)
3 3 Y ILN—FV0O 56.0 (3/4) () | REEE
RiT—RF— B:ISVII7Y WH BE
= =—_ 3 | BARA 1:18.2 8-7 39.4| - 9 41 | HEX GKR)
41111 |HB=/I=Z 54.0 () 4 |DLEE
RiVvRIVTA BAN S TFLA— =
W 4 3 | THERER 1:18.3 9-8 39.3| - 4 47 | EBE#EE] (KR)
I IEIAESA AB2.0 (3/4) (-4 |PIEFXCR
R:IJUTA9—2 BRIEIVaY POTE Py AN
=_=_ i 3 | EBRS 1:18.4 66 |39.8| — | 5 | 467 |EREELE (B%M)
6 4 PAYAT—5 54.0 (172) (5) | AREXT
R4 T RI—LEY B:EYrUD NYERTTZ—1
=~ “ 3 | ERRE 1:18.7 5-5 40.5| - 8 459 | FBFERIR (KR
7Pl 2| PX=>3avhk 54.0 (1172 (4 |DHAET
R:ZMOVIUI—Y B:PI=VYPUIIL EH xx
~ BARIZTE : - - SHa KR)
sl ¢ | HIRAIL—Y 3 Ten o R ! ?_%2) B AED
R:EVFOVY BFAYIVR HH "=
= b a 4 3 | BXS 1:19.8 7-9 40.9| - 6 502 | FER= (BERE)
9l5|5|Fr—FFH 56.0 @) (3 |EeABE
R:ANY—RIT7IVTY B:byTIr—F2R ke
® I1—JF—&EBIEfI
13—7+—
20—7+—
30—7+— |6,8,7,3,2,4,5,1,9
4J—73— |7,6,8,3,2,4,1,9,5
o ILRE
BB 7 B[O | [ DA K 7-8 200/ & 7-8 3109 3EE 3-7-8 520
B B 7 110M 3-7 1804 5B E 7-8 4209 3EE 7-8-3 2,640M
8 110M 3-8 170M o= 7-8 9209
3 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.




